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English (MCQ)

01. LIS TG WA 5aCS A1 7, 77 fF? Translate this Bangla sentence into English. [Ans: a]

(a) We cannot do without English, can we?

(b) We could do without English, can we?
(c) We do not do without English, can we?
(d) We cannot do without English, do we?

02.  Which pair of words is synonymous? [Ans: a]
(a) Waste, trash (b) Reduce, rubbish
(c) Recycle, destroy (d) Conserve, consume

03.  Which one is the conjunction? [Ans: c]
(a) oh (b) alas '
(c) or (d) hallo

04. Hurrah! We have won the match. What kind of sentence is this? [Ans: d]
(a) Assertive (b) Imperative
(c) Optative (d) Exclamatory

05. Report the following sentence into “indirect speech” : “Do you know the way to the station?” the lady said
to Kawsar. [Ans: a]
(a) The lady asked Kawsar whether he knew the way to the station
(b) The lady asked to Kawsar if he knews the way to the station
(c) The lady asked Kawsar weather he knows way to the station
(d) The lady asked Kawsar if he know the way to station

06. little child needs care. [Ans: a]
(a) A , (b) An
(c) Every (d) All

07. Writing letters — his hobby. [Ans: c]
(a) are (b) were
(c)is (d) have been

08. Could you tell me what time ? ' [Ans: c]
(a)is it (b) is
(c)itis (d) has it

09. He is not ashamed his conduct. [Ans: c]
(a) for (b) with
(c) of (d) on

10. The verb form of the word ‘social” is— [Ans: b]
(a) society (b) socialize
(c) sociology (d) societal
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P QT sp? RIRfACIRTE =T?
(a) CH, (b) C¢Hg (c) CH, = CH (d) HC = CH
FAALE: (a); R 2fold C *79R sp® Az
faiq 2T &SI &= WA AT 7 (@02
(a) CFC (b) NO (c) CHy (d) CO,
AL (b); CO,(49%), CH,(18%), N,0 (6%), CFC (14%), 03(8%)
d Toif&a (1B SEG1E 77 T ?
(a) 3 (b) 15 (c) 5% (d) 7%
FALI: (c); d ToIGEC SRABIT AN 5 B1 dyy, dyy, Ay, dyz dyz_y2
063 @ @iet 414 We7sF Sreegw govet fmywie?
(a) SO, (b) H,0 (c) PCl, (d) NH,
FAT: (b); N HACE AYCS R (MG 275 ZCeTR0w R |

"o

H/ \H
Tow fafera wrer Noa @I «@ee Gt AaEe 91 272 ,
(a) SEATES (b) SIECHIZET () STEFIZN (d) ST

AT (d); Too AT 71t SIeTcre LM A1 R — X + 2Na + X — RS R - R+ 2NaX

e @t Fefgewiza?

(a) HCI (b) H,0 (c) Cl, (d) NO*

FAY: (b); H,0 @F(6 oM Mefpewiaa |

faare s agfere uRe R e @Fb I9ge =? [Ans: b]
(a) THF OERIE (c) CCl, (d) S=1% AlCl,

P MR TAWE (@02 [Ans: b]
(a) GRG@ICA fieem (b) F@EP™FRE  (c) GFIRIZA (d) Gpeare

H,0, @ "0’ &3 T 72T 672 *

(a) =2 (b)1 (c)2 (d) -1

AT (d); H,0, RN 0 @@ @RI AT = (+1) X2+ 2x=0=>x = —1

053 @ (o1 @M @IS @i oy [me? [Ans: a]
(a) S7ifRA (b) SR (c) STZE (d) ST

STP Sl (6?2 [Ans: d]
(a) 0°C,760cm (b) 273K (c) —273K 8 1 I BI# (d) 0° C, 76cm, A=W

KMnO, GITs Mn S F2271- [Ans: b]
(a) +6 (b) +7 (c) —6 (d) -7

@ @9foa IFaE (@57 [Ans: d]
(a) CHy (b) NH3 (c) CO, (d) H,0

ig,m-@xam g 110 z




csTemarre SR

14.  @=fEw 5t 5T Tr=ss o7 @G ? ¥ [Ans: c]
(a) —NH, (b) —OH (c) —=NO, (d) —Cl

15.  SceH9 e sfifafess Fof f5? [Ans: a]
(a) P « X, (b) Q x Xi (c) Ve P (d)P xR

16.  JIFNETH FACHC @ @I [fEw7 277 “iez T2 [Ans: c]
(a) He (b) Ne (c) Ar (d) Xe

17. f=Tsta HNO; tofia “afod i 57? [Ans: c]
(a) IETCS Tae (b) (RIR *&fe (c) TrDSTT %S (d) 013 &

18.  CA7BIRT qwH fba @I TG AT ? [Ans: b]
(a) —CONH, (b) —CONH — (c) —COOR (d-C-0-C-—

19. TR PG TR =62 [Ans: b]
(a) Na (b) Fe (c) Al (d) Ca

20. PVC 93 TR @FWG?2 [Ans: a]
(a) CH, = CHCI (b) CH, = CH, (c) CH;CH = CHCl  (d) CH, = CHCN

21, ST P (@02 * [Ans: c]
(a) He, (b) He¥ (c) He?* (d) He3*

22, 3 9H (@H? [Ans: b]
(a) CHF; (b) BF; (c) CaF, . (d)Ha

23.  JNCE AL TAMIS- [Ans: a]
(a) GFTETTS (b) “BI5 (c) GRS (d) TiO,

24, W @I FeCly @7 3t @efd 3 32 w22 [Ans: b]
(a) B (b) P (c) BRI (d) AR SIfse

25. (P (G SN SIS BT AN AT S50 3B FR? [Ans: b]
(a) AI3* (b) Ca%* (c) K* (d) NHF

26. RMgX-(T Z13e AN A0 (e SO FI Tesig 23? [Ans: c]
(a) RCHO (b) CH3CH,OR (c) RCHOHC,Hs (d) C,HsOH

27. (@ @ SoAE? [Ans: a]
(a) TG (b) REom=  (c) oI (d) o ufe

28. BrROIRE Wi «3 3l ¢Bfie wg? '
(a) 3 (b) 2 (c) 4 (d) IS 31 (72
FAY: (a); BRI @fires sitas g 3 6

COOH COOH COOH
H-C-OH HOC-H HO-C-H
HO-C-H H'C-OH H-C-OH
Cl‘OOH C|OOH COOH

29. (NG CH3CHO @7 tafEBysie fafewam? [Ans: d]
(a) e el afegiom (b) RGeS afSgrom
(c) TG le To fafera (d) Fefpefelas go fafem

30. (I wiEe AEeE Touwe FE Fa? [Ans: b]
(a) FeSO, (b) H,0, (c) KMnO,4 (d) FeCl;
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Physics (MCQ)

0l. 1m WY (P! OIEE A 5mm | St 9y 99 GFo I ST T @9 I 0.01mm FF AT 932
AT 2cm 3 AR | 2R SFATS TS ?

oy 3 ANHIA

(a) 0.1 (b) 0.01 (€)1 (@) 1.1
. _d/D _dL _  0.01x1 _
W.(a);c—l/—L—ﬁ—m—O.l
02. QIYNSCE AT AR TASICHA & WTpa (FI6 AL TS =7 12 [Ans: c]
(a) TN (b) 3@ (c) 3T (d) PP

03. @3B n-p-n FFETBIRE NeARTE TSNS AT SR | ARG &R S B = 200 | FRART &R 1mA
RS 2t e 2)Ite «faen F© 23?

(a) 0.05mA (b) 200mA (c) 1.02mA (d) 1.005mA
" n_lc _1x1073 _6
ST (d); B = 1€ = I = 55— =5 X 107°A
Ig=Ig+I.=5%x10"% + 1 x 1073 = 1.005mA :
04. %A OIFO! GTLSER AN (@02 [Ans: c]
(a) B = I log® (b) B = o log'® (c) B =log B (d) B = logB
0
05, 45X 1 100x = 0 Fae w1 e T (I 1R T FATE
(a) 4rads™? (b) 5rads ™! (c) 25rads™?! (d) 100rads™?
TR (b); 2 TR, 452 +100x= 0S¥ +25x = 0= Cx 452 =0.....(0)
dZX 2 > .s
W,F-F 0®R="0 ... (ii)

(i) W2 @ (ii) T 9EI ¢ AR, w = Srads™*
06. 3B B 2 FEFOT 40% ; OF SIAATRTF SIFNIE 7°C | G TR Srei@r ey F9

(a) 193.5°C (b) 193.7°C (c) 194°C (d) 194.3°C
TT: (b); Ty = 1%2“ = T2 _ 2% _ 466.7K - T, = 193.7°C

07. 7 (AT ANBACE TG FAA @& {7dg 5F a3 =T I& I @1 49y 1.2F A1 5@ qioa
qAg TS .
(a) 1.5F, 3.5F (b) 2F, 3F (c) 1F, 4F (d) 5F, OF
SAIG: (b); Cp = C; +C, =5 ; cszg—i%zcl—:eu:clcz:e

SRR, (C; —C,)2=(5)2—46=25-24=1 ~(C; —C;)=1F~C, =3F8C(C; =2F

08. 15m @ 20m WATEHA Y6 ©ItR N4y fATa FAGFTH 5.0A @32 7.0A SfTR & Ho10R | SFd 4.0cm LI
%S A AT G AT TarAe e WIS *(3-
(a)8.15x 107*Nm~  (b) 1.67 x 1075Nm™! (c) 1.75 X 10~*Nm™* (d) 1.75 X 10~°Nm™*

-7
FAAY: (c); F = bofalel o B 2mx10 X9X7 _ 175 x 10~*Nm™?

2ma L~ 2mx4x10~2
09. HS BT (AT oo 5 WEET S0 Soifreiera 0 (I Rre St St 3 =1 T
@WWWWWIQWW- [Ans: c]
(a) TIIS (b) favgae (c) TfopA (d) oS
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10. G ColeTcaa AR YL 2.5 + 0.2cm 2 O SO RN o T 972
(a) 8% (b) 0.08% (c) 0.24% (d) 24%
3AR AV

vmwm:(d);%zT:.7=3x%x100=24%

1. 13 Gifir. ergeeen {f*E @3 e w7 90 el w91 20 97 oy 3 wfer tnedr ST 2a?
[Y = 2 x 101'Nm™2]
(a) 2 x 10''N (b) 2 x 108N (c) 2 X 108Nm (d) 2 x 107N
AL (d); F= YA =2x10" x1x10x10~* = 2 x 10’N
12. 9f6 @Ter 12ms™" @2 6ms ™! @ e «f5 eferaiier v w031 oIt gae U@ 2ms—2 @1
3ms™? | AW (1 9f6 G A T AT (sAtRT, ©TF O TS AN AT Wemarze FTARE?

(a) 10 sec (b) 12sec (c) 18sec (d) 1 sec
STAA: (b); t = 22 = % = 12sec

13, IS TS (FIA! T &AW, @S ¢ YOI GIite WOH T FA0ga Ssire-
(a) 1:1:1 (b) 1:2:3 (¢)1:3:5 (d) 1:4:9

AAGI: (d); “F% =g mﬁmmﬂmﬂwwﬁfﬁmmlﬁ—wﬁwmﬁ@w«ﬁa
AT | WS, TS IFI OF ARG, h o t2 = hy:hyhy = 1:22:32 = 1:4: 9

14, THGI CFCE S 8 (I8 TG YO B I [FOII? , [Ans: c]
(a) Y3 SIfF SFECeR BITe (b) Seifd AT BT
(c) TRIFTH BT (d) SIfSFcEa B

15. (@I BeDeE *fe 86 Srwyelis 6 23- [Ans: b]
(a) FTFS! (b) @G
(c) Srerea *f& (d) SiEreye!

16, SIFH T QIR LI SCF A A TS ANz T0e WAt 2foTecaa 2 fifere - [Ans b]
(a) &L FIHICH (b) CTtet FIRPITH (c) IFOR FCH (d) e 77

17.  0.1m e R{#E @3 Fedfa T ST @elF 0.002H 207 FEAB ARHLAT Z04-
(a) 200 (b) 400 -~ (c)300 (d) 100

STAIE: (d); L = “""Tnzr =>n= \/ 2L =\/ 2x0002_ _ 400

WoTtr 4mXx10~7X1Xx0.1

18. @ Afere 60W «7 22 5 AfS fRarsrarm sTiee 2z a1 a7 A waw R 220V ofze w1 2=

(a) 4A (b) 8A (c) 6A (d) 2A
TLE: (c); P=VI= 60 x22=220X1.1=6A
19.  fNEBtTa oifoa oI @i feram ¢ efefram Tuia @itam s 2=- [Ans: d]
(a) 0> (b) 90° (c) 360° (d) 180°
20.  GFET ST 20ms ™ @0 (TGIR (T LT FS VA0G S FCS A2 [g = 10ms 2]
(a) 40m (b) 10m (c) 30m (d) 20m

. (e B — VB (20)?
AL (d); H = =

U Sow-Srrs

= 20m
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21, y = Asin(ot — kx) TRNFT -9F @ FRG?

(a) [M°LT] (b) [M°L°T™] (c) [M°L™] (d) [M°LT™]
FUY: (b); MPLT 1 =1x 1 xT~1 = [T

22, SR AT oS THOR AT (&2 [Ans: a]
@H=3 GH=2 () H="=2 @H==2

23, @<l gefre e APIE (OB = (20 + 2] — K)m @32 o@ T F = (61 + 3] — 3K)N T 5 T F?
(a) VAON —m (b) V35N —m (c) V45N —m (d) V55N —m
IEE: (c); |T] = V(32 + (=6)2 =V45N—m

24. @8 FAER NGIS! (I 0 T NG FITSR *1S (@02 [Ans: b]
(a) 180° > 8 = 90° (b) 180° = 6 > 90°
(c) 180° < 8 < 90° (d) 180° < 8 < 90°

25, oTER RRIE T O3 74 20O ST G YAG r Z0A (@A PO AP [Ans: d]
(@ Tor (b) T «x r? ©)T?xr (d) T? 13

2. 28°C SIANI@ *HifFa ToifEes @S 0.5m % GG el FpLE SPRFOIR AL 7.3 X 10-3N T
THAT (oIt AR o T2
(a) 0.73Nm™! (b) 0.0073Nm™?
(c) 0.073Nm™?! (d) 7.3Nm™?!
ST (b); T = o = 2200 = 0.0073Nm™

27, @B TS ATS AT CFAT 1.4m? @2 I TG AT TGS 1 0.03m LA 47 4P

97
(a) 2.24 x 1071°F (b) 4.13 x 10~ 1°F
(c) 413 X 1076F (d) 2.24 x 107°F

_8 854x10712x1.4

TAII: (b); € = A -

28.  0.02m 2B _qzﬁ% 4199 5® 6Wbm 2 (STHS (L@ *RFEE (L FTHSI SRFS | 2AToF N4J JARGES
OGN 4 X 10™3ms ™! 2o 92 = e (hali voltage) 49 T« F©7?
(2) 2.8 x 1074V (b) 48 X 1074V
(c) 2.8 x 1072V (d) 4.8 X 1072V
SY: (b); V= Bvd = 6 X 4 X 1073 X 0.02 = 4.8 X 1074V
29, @33 FETRGER @ 1 x 107ms ™1 T FERGI0A [G-goifel SRy F9?
(a) 0.53A (b) 0.73A (c) 0.65A (d) 7.3A
ST (b); A = — L Ry Y

v 9.1><10—31><1><107

30, @3B MG @3 2T 20ms ™" @ SFEFT FAF NG 16ms ™2 @A GACR T&I T JAefoa APIE
24-
(a) 10m " (b)15m (c) 20m (d) 25m

2
W(d),a——ﬁr—v— ﬂ

BRI |

=413 x 1071°F

= 25m

0
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Mathematics (MCQ)

G IS TIERH x 932 y A (1 — %) (1 — y) 9T T @S2

(a) 2 (b) =2 ()3 (d) -3
A (C); x =0 WAy = w? ~ (1 -x) I-y)=1-x—-y+xy
=l-Ex+y)+xy=1-(w+0o)+w.0?=1-(-D+w3=14+1+1=3
4x? +16x* — 9x — 36 = 0 FN=elfa 72 T carereret 5 oot o =S -

(a) —3 (b) 3 (c) —4 (d) 4
FAYS: (C); T, o, —a, B~ a— o+ B = —%=—4$B=—4;W"@W=—4

(2x+g1;)10 93 [Igfers x IfeTe *mfs Fe7? [Ans: ]
(a) 6 (b)5 (c) 4 d7

T (a); (2x+ L) -arr =200 = 5 . ek S = (54 1) = 6 o

y? = 4ax *_ge (3, -2) Rl e Soacws B -

@ (3.0) ®) (03) (©) (3,0) @ (0,3)

TNHA: (@); y? = 4ax “RIFEH (3, —2)Repnd

“4=4a.3 2a=7 B AT, (a,0) = (1,0)

x® — 3x% — 45x + 13 @3 B F? [Ans: ]
(a) 0 (b) 67 (c) 94 (d) 121

FTAYE: (C); f(x) = x* — 3x% — 45x + 13 = f'(x) = 3x% — 6x — 45

AT e &, £(x) =0=3x"-6x-45=0=>x2~2x-15=0= (x=5) (x+3) =0 = x = —3,5
9{HE, f'(x) = 6x—6

Xx=-3%A,"(-3)=-18-6=—24< 0

o SN = (—3)3 —3(=3)2 - 45 (=3) + 13 = —27 27+ 135+ 13 = —54 + 148 = 94

fx) =2x+ 1A 1(x) =2

(A (x—1)/2 b)(x+1)/2 ©1-x/2 (d1+x/2

T (8); () = 2x+ 1 Sy Sx =7 @)y =2+ 1ak= T2 ) = B2 L fr1 = X2
ADMISSION *%{53 ISGTANT F© AR AT T2

(a)% (b) 9! (c) 9!/2! (d) 91/212!

FAI: (d); ADMISSION ; ADM (1) (SS)ON Jéf7est 9ff «twe STRwtet fATe SIS 720! = ——

212!
GFE FIF ORI Iy TSRO FI1S 6 F5 TG 4fb =AM 2@ TS @ T 2iitE w STwe
T T TR | LA TR B Aot 78w s fomaet 21 iy 2re 20e vy I 242
(a) 1 5 () 2% (c)3 %5 (d) 45

6-x 6 x

IAEE: (b); 4 3w P

w
RCOABA = PAAW + P = 3w = P = 2w ; F14 O TS 1Y = xft T @IRIA 779 = (6 — x)ft
CPX=w6-X)22Ww.x=w(6-X)22x=6—x=3x=6 . x = 2ft

EBN-TE | s }

o0y 8 NN




09. x+y<7,2x+5y<20,x>0, y< 0<SRRAACAF z = 3x + 4y 97 AEH T FS?
(a) 15 (b) 18 (c) 23 (d) 26
AAYE: (C);

x+y<7=32+I<t.n. ()
WA, 2x+ 5y <20 =+ 2 < 1o (i)
(i) @ (i) =% 797 (5,2)

(7,0) e Tmz=21+0=21
(0,4) RMTe TNz =0+ 16 = 16
(5,2) fre T9 z = 15 + 18 = 23
10. oy ffFe a3 =Iem L0ed e “ATgs 1= 80ft @ ATt (ILeta &y 2 74T Tl Fe?
(a) 20.5ft (b) 40.5ft () 40ft (d) 20ft
TA: (d); TS, L = 80, FTwort It = 45°

2 2

1
z u?sin? a u sin? a sinZ45°  80X:
- W4IfgF Twel, H = ——— = — X = 80 X = —2=20ft

2g g 2 2 2
11 10 9T 30 €S 722 20S @RI A6 A fret B Gifere S 3 @ikl aie f[orey 239 FRR=!
F97? [Ans: ]
(a) 5/21 (b)17/21 (c) 11/21 (d) 13/21

FILT: (d); 10-30 =& GRfers 7T 11, 13, 17, 19, 23, 29 A 66 @3 3 @y ferey 7ray 12, 15, 18, 21,
24,27,309 76 -~ (N6 = (6+7) =13 &
SR, 10-30 188 Rgt= 21181 - fedfa sreRmr = 2

12. f(x) =x2,y = 0 932 x = 2 T AT L CFAT - [Ans: ]
(a) 2/3 (b) 4/3 : (c) 8/3 (d) 16/3
T (€); () = X2 :

O\X:le=2
= y b
. _ (Podk = [x2ax =[] =2 =8
--C‘SSAZITISEA—fO ydx—fox dx—[3] oot

13.  |2x—5| > 4 SEWeIBA AN @FFG?

1 9 1 9
(@x>2,x>7 (b)x>2,x<;
1 9 1 9
(C)X<E'x<5 (d)X<E,X>E

Wz(d);Zx—s>4=>x>§or,—(2x+5)<4=>x<§.-.x<§,x>§

-‘ii Egw-SmE 1 ; 116 }
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14, [ X4y =7
vi-x
(a) /4 (b) /8 (c)m?/4 (d) m*/8
. . (lsin™'x ;- [(sin™?! x)2 ! __ (sin™? 1)2 (g)z 2
W.(d),foﬁdx—[ . ]0_ oy G =
15. fcoszgdx =?
(a) sin? g +c (b) 2 cosg +c (c) % x—sinx)+c (d) %(x + sinx) + ¢

T (d); fcoszgdx = % (1 + cosx)dx = %(x + sinx) + ¢

16, f(x) = (32— 2x +5): T f (1) @ T-
(a) 0 (b) 1 (©) 2/3 @) 1/3
AR (a); F(x) = (3x% = 2x +5)2 = '(x) = 2 (3x — 2%+ 5)3 x (6x — 2)

@) =3 G2+ x(E-2) =3 (-3+f x2-2 -0

2
17. y= tanxﬂﬁ%zﬁ?

(a) 1 +y? (b)1-y? (c) 2y (1 -y?) (d) 2y (1 +y?)
2
Y| (d); y =tanx = % = seC X = SX—Z = 2secx.secxtanx
2
= % = 2sec’xtanx = 2 tanx (1 + tan?x) = 2y (1 + y?)
18, Mm 207107 g g oS
x—=0 X
(a) log10 (b) —log10 (c)log. 10 (d) —loge 10

. 107%%-1073% g9 . 1072X1n10.(-2)-10"3*In10.(-3
ST: (©); lim =——, (3 9R) = lim 2101002 il
x—0 X 0 x—0 1

0 (2.1072%~3.1073%)

= lin(l) —In1 —In10.(2 - 3) =In 10 = log,. 10
X—>

19.  f(x) = 3x* — 6x + 4 T FI¥ 4TS Jfa “A17?
(a—1<x<1 (b) —o<x< -1 c)1<x<2 )4 s%<g2
AALE: (C); f(x) = 3x% — 6x+ 4 = f'(X) = 6x — 6;
ANV (x) =0 = 6x—6=0=x = 19q A RAIN |
1 < x 97 0@ I #A1F1 T () A 1 < x < 2 G T 7oy |

9T, 1 < x < 2 IR0 2 T8 - 9% F3fTe 3fd 23 .
20 A+B+C=m«3RA =B =CZ tanA + tanB + tanC = F©?
(a)V3 (b) 2v3 (c) 3V3 (d) Jig

ANCH: (c); A+ B+ C=nmt=180°~.A=B=C=60°
@M, tanA + tanB + tanC = tan60° + tan60° + tan60° = V3 + V3 + V3 = 3V3

0 1 ¥
2. A=|-1 0 3 |Za 93 @F M@ &G A 936 Rafery mihw =12
a -3 10
(@ a=1 (b)a=-1 (c)a=0 (da=4
0 1 -4
TME: (d); A=|-1 0 3]-aaﬁeﬁwm
a -3 10
0 -1 a oS =
AT=11 o —3]=—[—1 0 3 ];a=4m,AmWﬁaﬁwmml
-4 3 10 a 4 -10
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22. x= [1 2 0] TE x O9 (3,2) OF HRQ4F FO7?
0 -2 3

(@0 (b) -2 (c) 2 (d) -3

Wz(c);(3,2)w%ﬂm@—2aam%=—|i 2 alos2)=2
23. 51 o3 T4 21 + 3] + 4k (GBI SSTHFA F9?
(a)1 (b) 2 (c)3 (d) 4

. (R _ 5X2+0x3+0x4 _ 5x2 _
AT (b),ﬁzﬂsz%wvf————m ==£=2

24, (1,4) €32 (9,12) R aae AL @2 @ RYTe 3: 5 Siite SRiies 37, O ZHIE F67?

(a) (5.8) (b) (8,5) (©) (47) (d) (7.4)
Y- (C); ﬁ_@hw (3x:izx1’ 3x132:55x4) £ (4’ 7)
25, (5,2) Repid @i e o ufb e i feidire e Rf#E s cam e, el
FIFFC-
(@y—x=3 b)y+x=3 (c)x+y=-3 dx—y=3

Wﬂm:(d);§+_ia=1=>x—y=a§?{f(5,2)ﬁﬁ7ﬁ§f n5—2=a=a=3-ffm@ x-y=3
26. x2+y? —4x— 6y +a = 0 & x THF =M I, a 43 I F©?
(a) —4 (b) 4 () =3 (d3
AY: (b); x> +y2 —4x—6y+a=0=>x+y?+2(-2)x+2(-3)y+a=0
g=-2f= —3,c=a. 380 x -THFMI@-gl=c>(-2)=a=a=4
27, RTER @R ST @ CIRIRE AL fesR ©f 11 Swd @3 2 foafb o 017 x0T A Fofd
LA TS #fi7ta?
(a) 107 (b) 108 (c) 101 (d) 10!
Jg: (b); 11 -3 =810
8 0 BItH 10 =3 97 41 W =108
o S HeAJ = 108 .
28.  CRICAT AR (AR QIS (2, 330°) T RBR FIeea g
@ (/3 1) (b) (—V3,1) B 57 A @H=V3,-1)
FAYI: (C); x = 2 cos 330° = 2 cos(360° — 30°) = 2 cos30° = 2 X “75 =43
y = 25in330° = 2sin(360° — 30°) = —25sin30° = —2 X % = —1 = ST Z1Z (V3,1)
29. MW tan6 = @R tand = 1/3 T O (6 + ¢) 7 T 7
(a)m/6 b)m (c) zero (d) m/4

1.4
FAAG: (d); tan(B + §) = —onortand 2+i

30. tan?x+ sec?x = 3 (A x U9 WIF-

(a) m‘ril—t (b) mtig (c) mriz—3TE (d) mt+%

IAYE: (a); tan®x + sec?x =3 = tan’x+ 1 +tan’x =3 = 2tan’x = 2

=>tan’x=1 = tanx = -_i-1=tan(i%) -'-x=mri;—t

I ¢ R R s
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English (MCQ)

01. They’ve been living in that house ___ they were children. [Ans: b]
(a) until (b) since
(c) when (d) for

02. It is important that the admission office ___ your registration. [Ans: a]
(a) confirm (b) confirms
(c) should confirmed (d) must confirm

03. The antonym of ‘alien’ is __ . [Ans: c]
(a) immigrant (b) distant
(c) native (d) exotic

04. Youshould notrun _ debts. . [Ans: b]
(a) in (b) into
(c) to (d) with

05. The word ‘contents’ is associated with: [Ans: b]
(a) a shirt (b) a book |
(c) a cinema (d) a computer

06. Choose the correct sentence_ [Ans: c]

(a) Unless you do not work you will fail.
(b) Unless you will not work, you will fail.
(c) Unless you work, you will fail.
(d) Unless you will work, you fail.
07. Change into passive form: “He is going to set up a school”. {Ans: c]
(a) A school has gone to be set up by him.
(b) A school has been gone to be set up by him.
(c) A school is going to be set up by him
(d) A school has been going to be set up by him.

08. Change the number of the word ‘Belief’. [Ans: b]
(a) Belief (b) Beliefs
(c) Believes " (d) None

09. “He said that he had been writing a letter.” Make it direct. [Ans: d]

(a) He said, “I wrote a letter”
(b) He said, “I have written a letter”
(c) He said, “I write a letter”
(d) He said, “I was writing a letter”

10. The synonym of ‘formal’ is, [Ans: a]
(a) Official (b) Frankly
(¢) Cordial (d) Touchable

B4 Smr-Sw RN 100}




Chemistry (MCQ)

01.

02.

03.

04.

05.

06.

07.

08.

09.

10.

11.

12.

13.

14.

15,

Y
s

57 @ Eifo wEE? [Ans: b]
(a) CH;CH,O0H (b) C¢H5OH (c) CH30H (d) CH;CH,CH,OH
ATFIRG (32527 WA ZCARGT TR F©?
(a) 16 (b) 18 (c) 32 (d) 34
FAAYI: (b); 2CARG 7R = 16 +2 = 18 B
TN COf < I QA2 [Ans: a]
(a) 5w (b) 5% (c) *rFar (d) feBIfam
(a) (CH3)4Pb (b) CH;MgCl (c) CH5Cl (d) (CH3),Zn
T (b); AT PR AR ALF©: (R-MgX.)
YR LR FIERIZG? [Ans: c]
(a) ©IZTFEITC (b) “AferTFRIRS (c) TS (d) BITIFIZT
%2 SITa @I AT biof fRed Arets Siwey 203- " |Ans: b]
(a) faget (b) SCEF (c) 51T et (d) 9 vgdies
QIS #fifq w3eerR TR @ @IS *9ie 311 Th?
(a) CH3CHO (b) CH;COCH,4 (¢c)CH; —0—CH;  (d) CH, = CH,
AqY|: (d); CH, = CH, tBI;z(aq) - Cfliz - CPI{Z
B(%ﬂolorlesBsr
GEGIRT 26T 9T AFE- [Ans: b]
(a) TN16 @fore (b) ¢S (c) toe1 A1 B (d) 2fee &3
QYIS IF9  (FEABCS? [Ans: d]
(a) CH, (b) NaOH (¢) H,C = CH, (d) CH3CH,0H
TAMGH GF FALF® B2 [Ans: d]
(a) CHCl, (b) CCl, (c) cocl (d) COCl,
053 @A 9K SHRE? _ [Ans: c]
(a) Si0, (b) Na,0, (c) KO, . (d)Pbs0,
@G TSR (amphoteric) C?
(a) H,0 (b) NH, (c) H;0* (d) HO™
INIY: (a); H,0 + HCl - H30* + CI~ [®[43]; H,0 + NH; — NH} + OH ™ [or5gi])
@IF QA @ G (S0 AT 9F ATSAI AT HeAIF TN ©f HS© 27?2 [Ans: b]
(a) A (b) FIZAET @Y (c) s fammpe (d) CITAT @A
10%CaCl, @9 200 mL B3td F© A CaCl, ATH?
(a) 10g (b) 20g (c)11.1g (d) 5¢
FTIA: (b); 100 mL BT CaCl, /ITF 10g; 200 mL WA CaCl, AMF g = 20g
NH] SICNa A (12
(a) sp® (b) sp (c) sp? (d) sp>d
W:(a);X=%(E+C—b+a)=%(5+4—1+0)= = sp3 AT
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16. ftoa @AM cFea d-s=fIiee wifey mr=?

(a) Sc (b) Ca (c) Ar (d) K
ATLI: (a); ,;Sc = 1522522p®3s23p®3d4s?

17. 39 af1e-Sig FF 93 SIRGTR SARP ores @e{s? [Ans: ]
(a) fAIZe SCa% (b) friEe e (c) CPeTTIIfEw (d) AT o=

18. 57 (WG O F2RTE AFAA? [Ans: a]
@0=7 (b)vag ©u=; (d)E=hv

19. fae7 @G nReEr afte? [Ans: a]
(a) H,S,0, (b) H,S0;4 (c) HCIO, (d) H3PO;

20. FHRFE ToF *HGA 37O W (@072 [Ans: a]
(a) 5% NaHCO; @9 (b) 5% Br, & (c) CTfore Bt (d) 5o e

Physics (MCQ)

01. A=1-3]+5k 3B = mi+ 6] — 10k m- 93 T T I (SFITH AT AN 2(J?

(a) 1 (b) -2 (c)-3 ' (d)2
WW:(b);CWWWW,&=?=—_%:$:—%:.m: &

02. R QR @ (FIF QRACCIR W4T TF R- . [Ans: d]
(a)a=§ (b)a== (c)a =ra (d)a = ra

03. @3B Yo CITFA S 6g. GBI 3m WY G FOF ST (T4 FIICE 4 IR A R | @7 @A
TARN F©?
(a) 2.356 kg m?/s (b) 1.356 kg m?/s (c) 3.56 kg m?/s (d) 2.56 kg m?/s

AN (b); L = mor? = m@r2 Lo\l b3 nI23170X

04. ifo*& 4 &l I ¢ SN F© I?

x 32 = 1.356 kgm?/s

(a) 92 o (b) fo7 wet (c) 517 @ (d) =ii5 @t
AT (a); z—iz = ]‘Z—% = P, = V4P, = 2P,

05. RN FAHA @ AP (FIF0? ] [Ans: a]
(a) [LPM™1T2] (b) [LM™1T2] ©[[*MT?] () [IPM7?T?]

06. Sreeifefma & 3@ @HG? [Ans: a]
(a) dQ=dU + dW (b) dQ =dU (c) dU =dQ + dW (d) dW =dU + dQ

07. (IICIA Sf IS T&1 A AT FIW- : [Ans: d]
(a) ATETSITHINOE (b) FiioR faw (c) SIS (d) *BA*efBE

08. 6630 x 10~ 10m SIHMCHR (TR *IfF F9?
(a) 2.0 x 1019J (b) 3 x 10719 (c)4x10719 (d) 10 x 10717

- hc 63x10734x3x108 -

STR: (b); E = > = 222 200 = 3% 10719)

09. ifexf& 4 &l Jfa oiteT S F© I? [Ans: a]
(a) 92 @ (b) fo7 et (c) 51T & (d) = et

E 2
STA: (2); 5.2 =E—§=> P, = V4P, = 2P,

AU fem-Sw= R e}




10.

11.

12.

13.

14.

13,

16.

17.

18.

19.

20.

21.

22.

0°C SR 1kg IS 0°C SINI@R 1kg ANfATS 2fdere Fare @GR I sy 2a?

(a) 1.20 X 113K (b) 1.25x 103JK™1  (¢)1.22x 104K™*  (d) 1.23 x 103JK™!
(. qe — 9Q _ mlp _ 1x3.36x105 _ _
T: (d); dS = & = T = == —— = 1.23 x 103K
(I CFG (0 AGF? [Ans: b]
(@)W =2cv ()W = 2cv? (©W =2vc? @w=1%
25cm (T 1Ay [F*2 Tee e wvel 3972
(a) 5m™? (b) 4m™1 (c) 4cm™? (d) 2m™1!
STA: (b); p = 1 = —— = 4m™" = 4D
GFB EIFT AR OF 2T (ATF T AT ATS IS AN FITH? [Ans: a]
(a) 1sec. (b) 0.5sec. (c) 1.5sec. (d) 2sec.
G5 AN ferenae afesrrs V2 3 gew Rppfs @i we?
(a) 30° (b) 45° (c) 40° (d) 60°
o ) o () iy 1 o
INGI: (a); p = sin% — N — et =>sm( )—Ex 2——2
= 220 = gin~1 (%) = 60° + 8y = 90° = §,, = 30°
G ACLCS OR (04 JOIFH #IT A FIER et & [Ans: c]
(a) I (b) ATgF (c) =7 (d) g g
@ 3] O WIE F6 (ST O (G P{Tprel- [Ans: b]
(a) &TF 90° (b) 90°-93 (5T ®B  (c) & 0° (d) 90°-93F (5T T
B AACE AR B AT WAL [ (I - [Ans: a]
V2 —_ ok -
(a) @ =tan™?! (E) (b) 8 =tan?! (;—f) (©) 0= tan ! (—r‘ig) (d) 8 = tan~(vrg)

@36 GAfEr5a AR Md (Common bias) AL W2 | 7 WSS 237% 0.85 mA 93 Ao 2[1% 0.05
mA. 1R A4 @9F a 93 T Fe?

(a) 0.1 (b) 0.9 | (9Ll (d) 11.1
FTAYE: (b); Ig = Ig + Ic = I = (0.85 — 0.05) mA = 0.8 mA
sk 08 L -
4, a = = 2% v a = 094 ~ 0.9)
I 56 aifers ol 77? [Ans: c]
(a) OR (b) AND . (c) X-OR (d) NOT
OFf (STIEHT (N TLRIAR CF@ N9 @ AS?
(2) . = 0.6935 (b) T: = 0.693A () T: = 0.693A2 (d) T = 0.693
2 2 2 2
A (a); N = Noe ™t = ~2 = Noe™T> [t = Tl] =M =29 hi=n2=T =22
2 2 2
OF0 CFERABIFET CF@- [Ans: a]
@p>»1Lk>»1 bGp<K1,k>»1 Cpu>»1,k«1 pkLk=1
TITSIAINCIRT &R 7 (I - [Ans: a]

(a) S = 0Q (b) S = 00 ) S =1Q d)S =20




23.

24.

25,

26.

27.

28.

29.

30.

31.

32:

33

34.

%W%ﬂ@ﬁﬁ%ﬁ“ﬁﬂwﬁ@\? |

OF (b)2 ©2 (@A
A
oz .
T (0); SIS
A TR TGS AL AFH BT T Zeel- [Ans: d]
(a) p o p? (b)p < /p (©pop @p o

a3f5 T TR T iAg 15 ELAL | @TIER ek TR TR @3 fh 3 AR R0 I8 S foad
frafée Ry ~eql | 38 F© 73 w_ge?

(a) 8cm (b) 9cm (c) 10cm (d) 12cm
INHI: (c); 4w = |X| 23=Yoy=3y, 94, =+~ =~ =2-21 [v=23u, 581 {7 €@
u u f u -v 1'5 u* I
1 2
=2 —=—=3u=30.u=10cm.

15 3u

QTS ARFACST ALY 3.0cm @32 1T AT 0.50cm @3 500 6 71 =R | @7 Ty e 2.0A Rgre 2@ifzs
(A (FG 2 FS?

(a) 9.9 x 1078T (b) 1.3 x 1073T (c)4.2 X 1072T (d) 3.14 x 10~ 2T
AATYI: (c),B—uo—I—411>< 10‘7x(3 10_2)x2—418 S0 =T =0 2T
ey fApyfen cwvta @517{1%7@?5? [Ans: a]
(@r;=r, (b)i; =13 (©)rz =i diz=r,
BTRAN @7 TG 50 x 108 I=F | 9T AT Y F© 2?7 '
(a) 64.9 x 108 (b) 72.15 x 108 (c) 69.3 x 108 (d) 34.65 x 108
50x108

FANIG: (b); 7T &, T = L2 =

- 8
e 72.15 x 10° years

N T S5 T T ~Afae? [Ans: c]
(a) TN Felf (b) GI7 Tl (c) RoMA-@T= Tl (d) =5 T

T O TAMIAS 3T @ QNTF 2 x 101IN/m? | SRGa s 15% Jfan F0© &S Aes 797

(a) 2 x 101°N/m? (b) 3 x 101°N/m2 (c) 4 x 101°N/m? (d) 5 x 10'°N/m?

’WT*IF{'(b),Y=K=>E—Yl—2x1011 -, Ao = 3 x 101°N/m?

100

G oo ﬁmaﬂwa@ 400K SIoNIAE T (AT 840 Ol &2 T Aee] YT 630] ©I9 IS
I | 2H vl F9?

(a) 20% (b) 30% (c) 40% . (d)25%
630

wm:(d);n=(1—%§)x1oo (1—To)x100-025x100 n = 25%

HZTDIREA WA ©F SPANF I8 (37 AT G -

(a) QTR STNATS I A (b) FCX I _(c) 9 AR (d) ETS AE
STRI: (d); m = —
1—>
NG THFAE I SHIRE? [Ans: d]
(a) @pfes @& (b) GTFS I (c) TTFE T (d) FFIA I
@S SR @ (FNF @R T TE 12
(@)L = lw b)L=- ©OL=2 @)L x o
FANY: (a); L = mor? = L = lw [I = mr?]
p- GBI TEERIZ Lol & (@ RN IR (ST el = Ol [Ans: a]

(a) oIS (b) fecar& (c) BgLATSR (d) 2f=eTTE

! 104 Y8
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01.

02.

03.

04.

05.

06.

07.

08.

09.

Mathematics (MCQ)

A ©32 B WIGHCHT @l IAGFC 5 X 3 a2 4 X 5 30 BA AT V@] $97
(a) 4 X 3 (b)3 x 4 (€)5 X 4 (d)3x%x5

. B@IN@4X5-4X5
WW'(a)"x«ﬂawsmqsm}:"‘”

~ BA@iwa4 x 3

21 — ] + 2k =320 AL x TF (@ (P TLAF F(F ©F F97

(a) cos™?! (— %) (b) cos™? (g) (c) cos™1 (%) (d) cos™1 (_?2)
AAY: (b); x SCHA (SFF 1

Jﬂiuzg:—i;:xm: cos™! ﬁ= cos™?! (g)

2x — 3y + 7 = 0 @¥E BT A7 @32 (1, —1) RSt ez Afaas @ =in?
(@3x—2y+5=0 b)3x+2y+5=0g0@Bx+2y—1=0 (d)3x+2y+1=0
FAL: (c); e Fe@am T, 3(x— 1) +2(y+1) = 0= 3x4+2y—1=0

V2i =2

(a)1—i (b)1+i (©x(1-1) (d)£(1+1)
AGE: (d); V2i=V1+2i+i2=/Q+0)2=+(1+i)

13x + 2| < 7 SPITOR AN (FIF0?

(a) -3 <x<5 (b)-3<x<2 (©)-3<x<2 (d)-3<x<2

X ST BAF (I 0 = cos™?!

A (0); 13x+2| <7 -7 <3x+2<7=-7-2<3x<7-22-9<3x<52-3<x<3
y? = 9x *RIY0ed THFY 97
(2)(9,4) ®) (3,0) (©) (4,0) @ (5,0)
9 9 a2
T (b); v = 9x = y? =4+ 3-x @ a =] - WG AT (3,0).

1 4 1
1 0 0 9 FIIEIFO?

1 4 1
(a) 26 (b) 8 (c) 4 . (o

1 4 1
T (d); |1 0 0/=0

.
T R AT BT (2, — 2 ) T SIS G T T2
(@) (L,V3) () (-1,v3) (© (1,-V3) @ (-1,-V3)
W‘{W:(c);x=2cos(—§)=2cos§:2x%=1;y=25in(—§)=—Zsing=—2x‘/7§=—\/_3_

- JCSAT 1S (1, —V3).

2x+ 3y + 1 = 0 @ ANPI &ERIE OIF F97

(a); (b) -3 OF @3
AHI: (b); 2x+3y+1=0=y=—§x—§.~.mmﬂmww=_§_




| T

10.  (—2,3) RTe x2 + y2 — 8x — 10y + ¢ = 0 0T 927 SA(FS T ¢ T T IS F?
(a) 1 (b) -1 (c) 12 (d) —12
TAY: (a); (—2,3) G ame Jrea Tom w—fge |
“(-2)2+32-8(-2)-103)+c=0=>c=—-4-9-16+30=1

11. tan® =%"(CFTC0529 G IF 9 F37?

(a) 2 (b) = © = (d) 5

4
1-tan? ® _ 1-35 48 24
1+tanZ 6 14 T 50 25

AN (c); tanB = % . cos 20 =

12. sinA =§,cosB = 15—3 (A tan(A + B) €3 TN ' A? (GIRIA tan A, tan B > 0)

56 -56 10 4 {8
4 4
. . : e Lol 5
AAYE: (b); sinA == tan A - Ai4
W,cosBzi.ztanB—_—E 3
13 15
4 12 13
. _ tan A+tanB _ 3t 20436 _ 56 B 12
“tan (A +B) ~,1-tan Atan B 1-3x2 7 15-48 38 5

13, fawre Fwaceta @3 97 (5 + 3i) 2o AT F© FI?
(@)x*—10x+34=0 (b) x>?—5x+3=0 (©)x2—6x+16=0 (d)x2+10x—4=0
A (a); 90 4 (5 + 3i) =& T@M (5 — 3i)
- feda @R, x2 — (5 + 3i4+ 5 — 3i)x + (5 + 3i)(5 — 3i) = 0
=>x?—10x+254+9=0=>x2—-10x+34=0

14.  9x% + 4y? = 36 BRI TATHHF 10FT TG F© I?

3 8 9 1
(@3 (b) 3 (©) 5 d3
R 2 2
STIA: (b); %% +4y% =36 55+ L =155 48 =1

. < _2a° _2x2?2 8
- ST GE FHT A4y = — = E

3 3
15. 1,3,0,3,5,5 AT QAT 100000 97 (5T TG FOETE AT 2o+ B T2
(a) 120 (b) 130 (c) 140 T @150
T (d); 1,3, 0,3, 5, 5 945 TR0 1, 3, 5 1 NS 200 A |
. 2if8® ey wraf*i® 5 5 e 5 B wes e W 3, 2 6 wa 5, 2 B @ A T 72 1 fiew v

=2 =120 _ 39

212! 4

74 3 e o offd 1yt = 2 = 60,5 few %% @ 60 5 - GG 372t = 30 + 60 + 60 = 150.
16. sin® + cosec B = 2 T sin? 0 + cosech U V§ F©7?

(a1 (o)==l (¢)2 (d) -2

LI (¢); sinb + cosecd = 2 = sin 0 + ;ﬁ =2
= sin? 0 —2sin0+1=0= (sin6—1)2=0=sin6 =1

@4, sin? 8 + cosec 0 = sin? 9+$=12+%=1+1=2

| E5ro-Srrs - N4 } 106 f :




§ ™

17. cot™13 + cosec™14/5 =?

@3 ()3 ©3 @)X
‘B 4 1 i+ 5
AT (a); 1. cot=13 + cosec™1y5 = tan™? = tan~! o= tan~! 13 #; = tan™? — = tan~! 1 =-
2 >z <
18. (I fagres for qrem tidy I 3,5,7 cm Z0E JZEW (@I (@62
(a) 30° (b) 60° (c) 90° (d) 120°
. ) - —13%+5%2-72 ) Y — s
STAA: (d); JREW @I = cos ™ T = cos (— 5) =120
2
19. y = tanx T ¥ &3 T 797
(a) 1+y? (b) 2(1 +y?) (©) 2y(1 +y?) (d) 1 +x?
IAEI: (¢); y = tanx = % =sec’x = Edz;y = 2secx-secxtanx = 2sec®x - tanx
= 2tan x(1 + tan? x) = 2y(1 + y?)
dx
20. f T A
1 =1 i
@ i () i OF (@) Inx
! . dx il 1 _ i
TAT: (b); f x(In x)2 f (In x)2 % de i T 3" 7¢
21, 1 (UCF 20 +i4® FofE MM TS @Ffo eyt IHTe Feer 72 3 41 5 @ eftes 27 FTeRa!
FORT? ‘
3 5 8 9
(@) o5 (b) 5 (©) 55 D >

AAL: (d); 3 @9 @fdfes 72T, 3, 6,9, 12, 15,18 =6 6
5 @3 wfees 74T, 5, 10, 15,20 =4 6
15 GRS e 3 TR 5 97 ¢ffes @ AR/T =6+4 -1 =9
SR 1 G 20 #7@ GG A2 = 20 - faedfa srapet = —
22, f(x) = Vx% — 5x + 6 A f(x) €7 (BN FHG?
(a) 2,3 (b) [2,3] ()R- [2,3] (dR-(23)
FAYE: (d); [ (x) = Vx2 —5x+ 6 TA, x2 —5x+ 6 > 0
SE-2)x=3)Z20F=2x=23qRX <2 -~ (O R— (2,3)
23. f_zzlxldx =7 )
(a)0 (b) -2 (c)2 (d) 4

x21°

HYA: (d); [, Ixldx = [ °,|xldx + [, [xldx = [, —xdx + [ xdx = —[7]_2 + [§]z =2(-2)? +323= 4
24, —1<2x—3<5 (@ *RINA 612 AR @I 2B @ AF?

(a)|2x—3| <3 (b)|2x—5| < 3 ©Ix-3]<3 (d) |x] <3

TMYH: (b); —1 <2x—3<52-1-2<2x—-3-2<5-2=-3<2x—5<3=[2x—5/<3
25. x2—8x+ 2y + 7 = 0 RIS TATY F97?

(a) (4,—4) (b) (—4,4) (©) (4.4) d(-4-4

AML: (¢);x? —8x+2y+7=0=>x>—-8x+16=-2y—7+16=> (x—4)> = -2y +9

> (=4 = -2(y =+ Sf sl = U =)0 5 = 9 = 4 (35Mwrd) g

ATMFWx - 4=04Ry —2=—I2x=4>y=>-2=4.TMF" 4, 4)

2 2

e _ JIRU




26.

27.

28.

29.

30.

31

32.

33.

34.

35;

cosech + cotd = /3 TF 6 U3 TIF 97

(@7 (b3 ©F e

FMY: (b); cosecd + cotd = /3 ;0 = %RKF{ cosce —+cot—=%+%=2_\7§1=%=\/§
w3 =&l aﬁwﬁtﬁﬁwm@ﬁmm7wmr?

@3 (b) 55 © % @ %

ANLE: (a); TYANCHA = 6% = 36

AR, 6+1=7;1+6=75+2=7;2+5=7;3+4=7,4+3=7
mﬁeﬁnsﬁvwmiﬁ

¥ T 19.6m/sec @0 qF BT i1 AT TR s HTs F301 ©f T8 T gojed feea sIeiea?

(a) 2 sec (b) 3 sec (c) 4 sec (d) 5 sec
FAYI: (c); (T TP = 2—“ = 2)::'6 = 4 sec

M (-1,2) o 2x—y +3 = 0 (FYF TFF 1Rg XA-

(@)% (b) % ©% (d)3V3
SR: (b); (—1,2) TS 2X — y + 3 = 0 GATH G = 2}2(22 f)*f' == =%

ENGINEERING *%{6(s @Sl e S0 IF @A E %4 foqb a3ta anzas?

(a) 1520 (b) 1680 (c) 1679 (d) 15120
SYE: (d); (EEE) (NNN) (GG) (II) R.
E,3m1ﬁaﬁwmﬁaﬁﬂW9ﬁWmm3ﬁN 2%0«9‘«'°21%1Wl

« E, 3 ot wata @ e fmt szt = m = 15120

1+
i — S X g7 T 9?2
(a) 0 (b) 1 (c)2 (d) @ICIoE 799
Tl “m1+sinx_1_+0__1__

£ (b); x50 cosx 1 —1_1

y = 108 g, L =2

107% 10% 10%
(a) Tog.oe (b) T (c) 10¥logyg € A 75

P dy _ 1ox. U % W

STEI: (b); y = 10% = = = 10 In 10 = 10%In, 10 = ==
y? = 8x + 5 *RILEH SAIUS A0 (M4 F©7? N
(a) 4 (b) 8 (c) 12 (d) -8

SAYA: (b); y? = 8x +5 =y =8(x+3) = y? =42(x+3)>a=2
- BoTFET AMFA MG = 4a=4x2=8. .
4N 8 1N wf6 61 120° @ite feraraier == #ifad T F© ?

(a) V21 (b) V19 (c) V15 (d) V13
Wz(d);aﬁ=ﬂ2+12+2x4x1xcos120°=J16+1+8( ) Vie+1-4=+13
2T N FIIfE LI (ONE F97?

(a) n?-1 (b) 11 (c) n?+1 ) n(n+1)

FAYI: (a); fufa conrg, a2 = T- (®?% =

_ n(n+1)(2n+1) n*(n+1)®> _ (n+1)(2n+1) (n+1)2

n

12422432, +n2 {1+2+3...+n}2
n

n+1

- (“1*21){4n+2—3n—3}——( n—1) =

6n 4n2 6 4
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( MBSTU ADMISSION TEST 2018-2019 (Unit-B)

English (MCQ)

01. Could you tell me when___ ? [Ans: b]
(a) does the train leave (b) the train leaves (c) does leave the train  (d) leaves the train

02. The passive form of “Who wrote this book?” is . [Ans: b]
(a) By whom is this book written? (b) By whom was this book written?
(c) By who was this book written? (d) By whom were this book written?

03. The indirect form of John says, “I shall go there” is___. [Ans: b]
(a) John says that he would go there. (b) John says that he will go there.
(c) John says that he shall go there (d) John says that I will go there.

04. It was — boring film that I fell asleep. . [Ans: d]
(a) as (b) so (c) such (d) such a

05. IfIwereaprince,]  a palace. [Ans: a]
(a) w'd have (b) will have (c) would have had (d) have

06. The English translation of “=If¥ §a g2 @¢ ¥f®"is____ . [Ans: d]
(a) I fell fever. (b) I am feeling feverish
(¢) I have been feeling feverish. (d) I feel feverish.

07. Find the correct sentence: [Ans: a]
(a) Neither he nor his friends have come here (b) Neither his friends nor he come here.
(c) Neither his friends have come nor he has come. (d) Neither his friends nor he have come.

08. The synonym of “Abstain”is . [Ans: a]
(a) refrain (b) ingest (c) take in (d) consume Y

09. The antonym of “Dreadful” is - [Ans: a]
(a) pleasant (b) atrocious - (c) awful (d) beastly

10. He was addicted _ smoking. : [Ans: c]
(a) for (b) in (c) to (d) with

Chemistry (MCQ)

01. «=f5 sifea =19 A6 T30 YAGLE THN FACS ACA? [Ans: c]
(a)3 (b) 4 (c) 2 (d1

02. W QY TE TG (TG IR ACH?
(a) HCI (b) NH3 (c) H,0 (d) H,S
Y (a); HCL: ; NH3 : sz 2 Hzé

03. @G & g [Ans: d]
(a) 313 CO, (b) CCl, (c) CHCl; (d) sprfEGwE CO,




04.

05.

06.

07.

08.

09.

fatsa MG Ry NIt arzecarey e

(a) 0 = 1 (b) 1 2= 100 (c) 0 = 2
SYTFATTD *1S (FG?

(a) K; < K, (b) K; = K () K. =K4
@ @AM FoT TR

(a) KO, (b) PbO, (c) Na,0,
A (a); O < SR 31 —

fatsa 31w «fvre gaafba pH I F32

(a) 0.5M (b) 0.05M (c) 0.005M
B-sRrrifes IEw Toifge -

(a) 3518 (b) @b (c) fapnfes
AT TR NP (@02

() 0 — 100 nm (b) 100 — 200nm (c) 200 — 300nm

10.

11.

12,

13.

14.

ES:

16.

17,

18.

@ AL AR 2O (A2
(a) HCl, HNO, (b) H,S, HCI
Y=: (b); HY =7« common

(c) AgCl, HCI

o 8 NNHH

[Ans: a]
(d) 1 =2

[Ans: d]
(d) K; > Ks
(d) MnO,

[Ans: a]
(d) 0.005M

[Ans: d]
(d) crTS

[Ans: d]
(d)1—100nm

(d) HNO3, (NH,)2S0,

T ST W HAE T - [Ans: b]
(a) SO2- (b) NO3 (c) CO%" ) cl-
faT =3 s @ et @efs 3¢ o [Ans: b]
(a) Na* (b) K* (c) Ca?* (d) Cu?*
e @@ Arifore sp3d? s wite? [Ans: c]
(a) H,0 (b) BF, (c) SF, (d) PClg
@1 e v H3C>C=° 2P TSRS = a1 T [Ans: d]
(a) To% fafemr (b) Frfeercar ffemr (c) fFrest @rete R (d) Teereaw e
@A e ¢ REms Temmee F1e Fear | . [Ans: b]
(a) KI (b) H,0, (c) H2C,0, (d) Na;S,03
LS B D &) (P A wrar? [Ans: d]
(a) F,C — CHC, (b) CH,FCl ~ (c) CHFCI, (d) CF,Cl,
faes @1 QIS ST ST
(a) C,HsCHOHC,Hs  (b) BrCH,CH,0H  (c) CH;CHOHBr (d) CH;CHOHCHj

CH

|
g (c); H — |c — OH
Br
12C @ 13C rres-
(a) SIREACGT (b) STRTICEH
STAHE: (a); (2B IR AT |

Y

EHN-TwE

(d) SI=ACET 8 SRCANCG




|

19. fowrdm afie @=i?
(a) H,SO, (b) H,CO3

(c) H,503

s (d); HiPO, + 3NaOH — Na3P0, + 3H,0

20. faoa @@= @S srammoe?

(a) @ (b) C(

gE: (d); 4n+2=6; n=1

21. IR TC=-

(a) Mg (b) grgF
22. (WG T AFTFERI?

(a) —CN (b) —Cl

© )

(c) facer=r=

(c) —CHO

SY: (b, d); —Cl @ —CH; To7 29+ 3713 At |

23. I @I ANEFAC FIZXO X (02
(a) 5w R
() =Ifdet IS fafema
24, foT5a RN W0 (FR0F TG A0 @i

OH

@ O/on ) /(j

H,C
25. foe @ Saf{eEt 81 792

(a) 3d (b) 2p
26. BAZF YT A (@02
(a) 775 i (b) farrdm

samq: (a): H—C = C — H
H,S0,
27. CH3CH,CH(OH)CH; —' e Seefiy
(a) CHy =CH = CH — CH,
(c) CH,CH = CHOH
28. CH3CHO @3 &r=e Teoiy =3-
(a) HOOC(CH,),COOH
(c) CH;COOH
29. wFrifecar [ oE-
(a) (CHz)3CHO (b) CH;CHO

(b) 2,4 — DNPH e
(d) crefer Bt

OH

© ONC(

(c) 3f

(c) ST

~

(b) CH;CHOHCH = CH,

(d) HsPO,

(d) &

(d) —CH,

(d) O/OH

(d) 4d

(d) =T

(b) CH;CH,OH
(d) CH;OH

(c) CH30H

sy (d); a — C @ H &= @t Fnfaencar e o |

30. FHEEE IS C-ARCS @1 oFE RFCRCETT WH?

(a) sp (b) sp?

- U smw-Sww {

94 2

(c) sp?

(d) HCHO

(d) sp3d

[Ans:

[Ans:

[Ans:

[Ans:

[Ans:

[Ans:

[Ans:

o 8 ANTLI

b]

b]

d]

b]




GST 95 oNINT

| ™=

01. oo TRTOR TAH T =& 2rw=- [Ans: a]
(a) § KT (b) g KT () KT (d) KT

02. SfTHFT I+ GFF ZH=- [Ans: b]
(a) & (b) =1 (c) T (d) s

03. WITBIRA @7 AT S Faeft 2rvz- [Ans: c]

(@) Emax = h, — Wy (b) eVo + hv = (OF (©) %mvrznax + w, = h, (d) Emax + h, = Wy

04. A =91+ 6kaw B = 41 — 6] + mk co%a 75 iz ©oi o7 2 ORTT m 7 T 2 [Ans: b]

(a) 4 (b) 5 ©) 6 () 7

05. FHOIAT AT T WO @ SAR FE 2T [Ans: d]
(a) PV = Constant (b) PVY~1 = Constant
(c) PV1™Y = Constant (d) TVY~! = Constant

06. ~perera vifEre R i 8 2= (1 3% 9= r 770y (r > R) S ameey-
(@) E x r (b) E o< (c)Eoc% (d) E  r2
Wz(b);E=4:€0 SoEBx—

07. AHR IS I @ T =3- [Ans: a]
(@) Ig +I¢ (b) I —I¢ ©Ic—Ig (d)Ic/lg

08. Z[FRGT ©F T(3- [Ans: c]
(2) 5.5 x 10~23g (b)10.7x1077g  (c) 9.1 x 10728 (d) 9.1 x 10-3g

09. «=f6 = afs ™G 60 = T | =BT @ @ 2=- [Ans: b]
(a) mrad/sec (b) 2w rad/ sec (c) 3rad/sec (d) 2 rad/sec y

10. @35 ¥ Wit @y 567 3a- [Ans: c, d]
(a) TaTdHR Tog (b) SrTSTR T (c) SrE@E Boiw (d) TAmITTR o

11. 9f6 = feremm Rpfs @m- ‘ [Ans: c]
(@) & = pA b)s=1-wA (©8=u—-1)A (d)d=(+DA

12, 1 s FAxca efswmans T 1.33 @R 2.4 | BT W @@ 203~
(2) 1.26 x 10°ms™  (b) 2.26 X 10®ms™! (c) 3.26 x 108ms ™1 (d) 4.26 x ms™!

T: (a); 2.4 = 222 o ¢, = 1.25 x 108ms-?

13. 1 fotemeas w1 @3 T =3- [Ans: a]
(a) 3.6 X 109] (b) 3.6 X 108] (c) 3.6 X 101°] (d) 3.6 x 10%2]

14. A=t fgesre= =few o i W E, o TR3- [Ans: b]
(8)VZ X E, (b) 22 () 2E, @)L

15. 1eV =2 [Ans: b]
(a) 1.6 X 10~17] (b) 1.6 X 10719 (c) 1.6 X 10734] (d) 1.6 x 10728]

| Serw-Srarw S




16. @ITGT JTSBIAR G #f #AT47 IFall- [Ans: d]
(a) nA (b) n(A + 1) (©m+1)3 (@ (@n+1)3
17. CHIBCR SR Al [Ans: b]
(a) he/A (b) h/A (c) hA (d) h/2A
18. fEeHarem I+ *If& 2eeTl- [Ans: b]
(a) 2.11MeV (b) 2.23MeV (c) 1.43MeV (d) 3.23MeV
19. vt ={rdey ST+~ [Ans: a]
(a) 2% x ot =1 (b) 21 X 1% NG (c) 21V X H% M (d) 2= X R AT
20. ATITOF GFF AR- [Ans: b]
(a) C2/(N — m?) (b) C2N/m? (c) C2N?/m? (d)C—N/m
21. 5 oxwg foaft @I4re TR AR RIS FA1 T | @7 071 @Y I~
(a) %Q (b) gn (©) -‘Z—Q (d)50
B
T: (b); 39
5Q

1!
.-.waw=(1+l+l) =20
5 5 5 3

22. SerEfacTE W€y 45 X 108 377 | 7T WY W3-
(a) 64.9 x 108years  (b) 74.9 x 10%years (c) 64.9 X 10*%years  (d) 74.9 X 108years

FA: (a); G A = 451:1208 = 64.9 X 108 yrs

23. e AfiSf ¢arzTE GF T &AM FARRS FI- [Ans: c]
(a) Diode (b) Transistor (c) Rectifier (d) Amplifier

24, RPN TS & (FR(G A6F? [Ans: c]
(a-1<o<1 b)-1<oc-7 (c)—1<o<§ (d)1<o<§

25. e zre @36 98 7 m/s? TG 50 8P GIET @ T yAg WOG FAA?
(a) 54.5m (b) 52.5m (c) 56.5m (d) 52m
e (b); Sg = 0+ 2 (2 X 8 — 1) ‘

26. (FfOF @I @R AP LAl \ [Ans: a]
(a) [T™'] (b) [T7?] (c) [T?] (d) [T]

27. @5 a3 0.02kg St Toiw 10s foran 03 wfbre g 20 Sm e (6o fAoe amy | 30 e 20e-
(a) 0.002N (b) 0.003N " () 0.004N (d) 0.005N
TMYE: (a); 5 = % xaxXx102=>a=0.1ms 2= F=0.02x 0.1 =0.002N

28. “eiw qft T RE TS g =3- [Ans: b]
(a) A, (b) A/2 (c) \/4 d) 2\

29. FUW GG FI ACH? [Ans: a]
(a) &SI STk (b) eSS BUeF (c) TSl BTk (d) 1ot BT

30. 7TE I83 ifeq AP0 - [Ans: a]
(a) v2 = 2gh Mh=>g@2t+1) (h=gt’ (dh=2

I Y R { 9}




01.

02.

03.

04.

05.

06.

07.

08.

09.

10.

Mathematics (MCQ)

G5 a1 fomar fT= 31 =7 | Bitaa P (I (=® 1 ST SWeI=-

(a) (b) ©3 (d)9

ToE: (a); NoHead = TTT -~ P =%

x% +y% — 8y — 9 = 0 (& @F GR JPIE 23-

(a) (4,0) @2 3 (b) (2,4) @= 3 (c) (4,0) @2 5 (d) (0,4) @== 5

are: (d); @@ = (—g,—f) = (04)sy=v42+9 =5
I AB @R C fqre 1: 2 Soits seffew o7, oie-

(a) 3CB = 2AB (b) CB = AB (c) 2CB = 3AB (d) 3CB = AB
ST (2); oo = = = ce+1=2+1=2=2524B=3CB

u IfSTIT @R WRfTFa AL o (@I 2AFFS FJIAR AON TS o1 Fo?

(a) u?/2g (b) u?/g (c) u/g? (d) u/2g?

v2
srg: (b); R=?
k@ImIe T 2x —y+ 7 = 08 3x+ ky — 5 = 0 @1 930 277 7" =37
(a) 8 (b) 7 (c) 6 ‘ (d)5
T (C);y = 2X+7 Sy =— y+: 2x—-=-1= -1=k=6

[ eXsinx dx =?

(a) % (sinx — cosx) + ¢ (b) ez_x (sinx + cosx) + ¢

(c) ﬁ (cosx — sinx) +c (d) ez_x (secx — cosx) + ¢

AL (a); —— =1 (asmbx — bcosbx) + ¢

ELECTION *fos sreaefe «3ta fea o eIt et d?

(a) 10160 (b) 30160 (c) 20160 (d) 40320

L (c); = = 20160
2!

W f(x) = x? @R g(x) = x + 1=, o7 (fog) (1) <3 I+ T=-
(a) 6 (b) 8 (c)3 (d) 4
sar: (d); f(g(1) = (2) =22 =4

X+4

—_—7

xX—00 X—4

(a) 1 (b) oo (c)0 (d) 00/00

AN (a); llm—i—f—l

GF SHEICRE 6 & 75 Wt | ol 0 o@1ta o uaew a1 uIifss e FmEs Fa0s “Aia=?
(a) 63 - (b)) 72 (c) 54 (d) 81
s: (a); 26 — 1 = 63

.

oS } oo |




11. ’1‘—2+§ = 1 $o3ed TUIfuee 797
() 3/4 (b) 4/3 (c) —3/4 (d) —4/3

W=(a);e=\/1—:—j=\/1—l=-

16 4
12. y=ln(ax3)5ﬁj—§=?
1 3a a 3
@ = OE ©3 CF
(A L e 2
T (d); 5 = — X 3ax” = -
13. y2 = xR x = 1 R A& CFG CFAF F© T G552
4 3 8 7
(@) 3 (b); (©) (d3
1 ar 31t 4
s (a); 2 foﬁdx=5[x2]o=§

14. y? — 6y — 4x + 21 = 0 *R3eed M TRS -
(a) (2,2) (b) (3,1) (©) (3,3) (d) (1,3)
srrs: (c); (v — 3)% = 4(x — 3)

2

15. E e 197 SATSGE AT 3-

25 16
(@y= *x (b) y = +3x (©)y = +x (dy=+3x

x4 2 X 4

A (a); —— = 2= = = = +tisy=+-x

25 16 5 5
-X

© e
16. [, oo dx @ 9 T3-

(a) o0/ (b) 1/2 ()0 (d) In2
Tz =1+ e X = dz= —e *dx le-_7d§= 12%= [Inz]?

17. Xx+2y<4,2x+y<6,x=0;y=0REACNF z = 3x + y & N I foiefr 41
(a) 8 (b) 6 ' (c) 16 (d)9

HAT: (d);cswﬁﬁi(g,g) 58, (3.0) +9 Zpay =9

1 16
18. (x—2) an Rgfers x <fefe o1 s
(a) 90 (b) 8th " (c) 6 (d) 10th
:(a); °C, x1T(—1)'x T = 100, (-1)*x ' =16 -2r=0 =>r=38
19. 2,5,4,9,7,13 el Tq =3-

(a) 4. (b)8 () 10 @6
e (d); 2,4,5,7,9,13 @ T 2 ¢ (3 + 1) wwowm s = 2 = 6

20. P s Q Wtwa u4f6 3 a (e @1 fprs s 2ot wfea Wi e 29 I o @9 T- [Ans: a]
(a) 0° (b) 450 (C) 90° (d) o

B sew-Srmw R s}




o1 e B o
21, f(x) = V9 — X2 TR (SN G (@& TAGH-

(a) [0, 3] «=e [0, 3] () [-3,3] @ [0,3] () (3,3) «== (0,3) (d) (=3,3] == [0,— 3)
: (b);9 —x? 20 = -3 <x <3 Dp=[-3,3]; R = [0,3]

22. XTCRATEAGRX — 3y +2 =06x+y— 2 = 0 GHRE (R~ P T @hot 7T ey 1Rl
@x—-3y+2=0 b)y—-1=0 C)x+y+2=0 dy=2-x
FE: (b); (v (1,1)y—1 =0

23, (I FRECRA X — ST FANQS A AL 45° (o Beoigy 3407 @B 5 203-

(@)1 (b) —1 (c) V3 (d) V-3
T4=: (b); m = tan135° = —1

24. x% =1+ 2y & (ORGP FI0E-

(a)r(1+cosB) =1 (b)r(1 —cosB) =1 (c)r(1+sind) =1 (d)r(1+sinB) =1
FY: (¢); 1% cos? 0 = 1 + 2rsind

= r?(1—sin?6) = 1 + 2rsin® = r? — (rsin® + 1)2 = 0

=r = £(rsin6) + 1 = r(1 +sinf) = 1

25. N f5F JREIW —7 < 3X — 4 < —1 SIS 4™ F4-

(@) |x—4| < -3 (b) x| <1 (c)|3x—4| < -3 (d)[3x—4| <3
Tge: (b); —7+4<3x<-14+4 5-3<3x<3= =1<x<1;x|<1
EI = 2 W fRCHfeTs TRwTers el o1e-
(a)3s (b) =g (c) T3 (d) s
TgE: (a); |z — 3| = 2|z + 3|
= (x=3)%+y*=4[(x+3)2+y?] = 3x2 +3y2 +30x+ 27 = 0
27. 2x* 4+ 2y? + 6x — 8y + ¢ = 0 J86 x THF ™1 T ¢ €T W @IG?
(a) 2.5 (b) 3.5 (c) 4.5 (d) 2.25

26.

2 2 c 3 2 £ 9
THE: (€); X +y +3x—4y+5=0=>(5) =73 X2=cDc=45
28. 21—+ Kk 1+ 2] — 3ka® 4i — | + Ak =%3 fonfs smredig =071 A @3 519 =3

(a) =3/5 (b) 3/5 (c)2/7 ) (d) —2/7
2-11
Te=: (b); |1 2 =3 =2(2?\—3)+1(7\+12)+1(—1—8)=0=>)\=§
4—-1 A
-1 1 _
2. A=|T, j|=mat=
1 -1 1 1 -1 -1 -2 .1
(a) [2 _1] (b)[_z _1] (C)[z 1] (d) [—1 1
W=(a);2x2wmmmm,xl=ﬁ[; :ﬂ=[§ :ﬂ;[IAI=1]
30. @ s fawrs s ax? + bx + ¢ = 0 @7 926 T weRGT BB ¢ FoAAe frea 2-
(@) c=a (b)a=b (c)c=-a (da=-b
W:(c);ax(%):i:.i:—]_.'.C=—a
I Smm-Ts | 9 |




‘ 3STU ABSSIQN TEST 2018-2019 (Unit-A) ]

English (MCQ)

01. He __ the music but also signs the songs. [Ans: d]
(a) only compose (b) not composes  (c) composes not only (d) not only compose

02. The verb of the word “social” is 3 [Ans: b]
(a) society (b) socialize (c) sociology (d) societal

03. The antonym of “industrious” is s [Ans: c]
(a) stupid (b) harsh (c) indolent (d) undecided

04. The adjective of the word” heart” is . [Ans: b]
(a) heartful (b) heartening (c) hearten (d) heartfully

05. Ifhe _ on telling lies, nobody will believe a word he says. [Ans: c]
(a) will go (b) go (c) goes (d) has gone

06. Isaw __ one—eyed man. " [Ans: b]
(a) the (b)a (c) an (d) none

07. Tappeal ~ you__ merey. [Ans: a]
(a) to, for (b) to, on (c) at, on (d) strongly, at

08. The English translation of G7 FWI¥ *ifee ¥, ©R 12" is____ . [Ans: d]
(a) He works hard, isn’t it? (b) He works hard, isn’t he?
(c) He works hard, doesn’t it (d) He works hard, doesn’t he?

09. What is the correct indirect form of the sentence, He said, “The train reached at nine”.  [Ans: b]
(a) He said that the has reached at nine. (b) He said that the train had reached at nine.
(c) He said that the train reached at nine.(d) He said that train reached at nine.

10. Form an appropriate wh-question for “I am talking to an old man” [Ans: a]
(a) Who are you talking to? “(b) How are you talking?
(c) Who are talking? (d) Why are you talking?

01. JATSTILER ZERGH SFGH ASF N (T2 [Ans: a]
(@)Cl>F>Br>1 (b)F>Cl>Br>1I
(c)C1>Br>F>1 (dI>Br>Cl>F

02. (oo(BI2T I 67 FIF FTH0 AF? [Ans: b]
(a) —CONH, (b) —CONH — (c) —COOR (d-C-0-C-

03. fRfenfs @G w@t 47 =2 6Fet? + Cr,0%~ + 14HY - 6Fe* + -+ 7H,0 [Ans: a]
(a) 2Cr3* (b) 2Cr2* (¢) Cr(OH), (d) Cr(OH),

04. @ @I IHNI (RIG? [Ans: d]

(a) CHy (b) NH3 (c) CO, (d) H,0

__ P
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05. T (@ SfR g (FWib? [Ans: b]
(a) Al (b) K (c) Mg (d) Ca

06. GNTe SRACHI G (@1 T FAPI TR T frsamery [Ans: c]
(a) e (b) i5w (c) Feg (d) 2eTG

07. =G coufEm w3 [Ans: b]
(a) a3fy (b) & f4y (c) y 3 (d) B =

08. =7 W wiafb efegifre 2wt (@i stara st 2T =i [Ans: d]
(a) —OR (b) —NH, (c) —OH (d) —SO;H

09. Freon-12 @=f5?
(a) CF,Cl, (b) CFCl, (c) CHCIF, (d) CCIF, — CCIF,
T (a); 12 +90 = 102 . e CF,Cl,

CHF

10. 0 Qeletsia @Hba (@I AW THREE TP R T2 [Ans: d]
(a) CCl, (b) H,0 (c) NF; (d) XeF,

11. R @G e gee T3 [Ans: b]
(a) 2T (b) e () w=Iw (d) #1f

12. fzs @l faemae fofs T2 : [Ans: c]
(a) L& (b) F=wrE (c) Twrrer (d) o

13. s A0S @419 TR NS (FH’? [Ans: a]
(a) H,CO3 — HCO3 (b) H,CO5; — CO32
(c) CH;COOH — CH5COCI (d) NH,CONH, — NH,CONH*

14, H* s 3ot g [y [Ans: a]
(a) 0 (b) 01 (c) 02 (d) 03

15. Sy1 ffewr w7 qiest srafys =2 [Ans: b]
(a) &= (b) % (c) fo= (d) o=

16. fama @G ST [ i

(a) CH3CH,CHO (b) CH3CH,CH,0H (c) CH3CH(OH)CH; (d) (CHs)sCOH

Fg: (c); CH3 CH(OH)CH; wiffs 2wt CHy — CO — CH; Sesty 327, a1s CH,CO o/ Ry |
17. faeza @ c@eif 52w (C4HgCH,) e et s

(a) cowe (b) @ (¢) ETRTIE (d) TRG

FAL: (a); —OH e (@ <eea sHfewer 3faa wwer —CH; 77 20 @ |
18. (1% SRfABICT 2RGr Iy 142

(a) 2p (b) 2s (c) 1s (d) 3s

19. T QSIS e *HISFa0a S 9% T2 [Ans: b]
(a) PClg (b) FeCl, (c) AlC, (d) ZnCl,

20. e e wefbwrme g6 ww T [Ans: d]
(a) 100° (b) 50° (c) —=50° (d) 0°
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Physics (MCQ)

01. A=2i+2]— k=B =6i— 3]+ 2k ccoBmarma w78 @ ==-
(a) 39° (b) 47° (c) 69° (d) 79°
3 " - -1 E —_ -1 i — o
sgE: (d); 8 = cos (AB) = CoS (21) =79
02. «=f5 Y Sl A 79.53m @k @™ 5.3 sec. | e @1 =-
(a) 30m/sec (b) 40m/sec (c) 50 m/sec (d) 60m/sec

-
vosin2® _ 79.53; v,cos8 = 15; v,sind = 25.97;

v, = V152 + 25.972 = 30ms™?
03. «=fs T8 fiHE TwHor TS @ (71 =1 | 9l =S 10m Twor sfexfe eq e et 21 7o Twer s
T e TR
(a) 10m (b) 20m (¢) 30m (d) 40m
srg: (¢); mg(h — 10) =2 X mgl0 = h = 30m
04. @26 SR TAMICT 2 @9 &% 2 X 101N/m? | orfba g 15% o F0e 247 Aew =3-
(a) 3 x 10'°N/m?(b) 3.5 x 10'°N/m? (c) 4 x 10'°N/m? (d)5 X 10'°N/m?
TR: (a); WG = 2 X 101 X == = 3 X 101°Nm ™2 '
05. 127°C @3 27°C &3 W4 I G0 ICAT 2GCTF wFol ZI-
(a) 25% (b) 40% (c) 50% (d) 75%
300

TdE:(a); (1 —-40—0) X 100% = 25%

06. W5 vIE TGS vy fomed Ifa T I F© @ I a2

sgE:(a); R =

(a)1/9 ()9 (c)1/3 (d)3
srgE: (a); F « %

07. =f3= feq ==- [Ans: c]
(a) ¥IQF (b) g (©) X (d) e

08. TS At IRET A fgrefEe e - N [Ans: c]
(a) T (b) @32 ACE (c) 3= =i (d) e =a

09. <5 @ SEHFEF *fF 2V | qTe T4 5A ©fve 2[1Ee 2, o3 @7 o7 A1y 1.8V = | (I weyear
@Y T2 ‘
(a) 0.01Q (b) 0.0202 (c) 0.03Q (d) 0.04Q
R (d)s ¢ = 2= Q= 0.040Q

10. 069 (1 S0 SF (A HACHCH (A2 [Ans: b]
(a) oS @& A (b) @O ©7H (c) y 71 (d) x 3P

11. =R o3% o5 60004 271 @afs wivema *IfE =z3-
(2) 6.04 x 1071%] (b) 6.04 x 1072°]  (c) 6.04 x 10721  (d) 6.04 X 1023

] =3.315% 10719

3x108
6000x10~10

I ¢ TR R -

sr: (No correct answer); E = 6.63 x 10734 x
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12. o3f5 s +ifeasf ©fYe eqees fiwae j = 50 sin628t 201 SR eRIEd o1 1@ 0 A 23-

(a) 25.25 A (b) 30.35 A (c) 35.35A (d) 40.35 A
50
F:(c); [ =1, = = = 35.35A
13. fawes @R @ @it @7 JHwe- [Ans: b]
@3+3=17 bi=@-1 (7+7)
Tl 11 25d _u D
©+i="F @m=3(1+3)
14. Sfewme *fe T@r TNFa 201-
(a) ML2T 31 (b) MLT3]
(c) ML2T~2] (d) ML23]2
W  ML2T? o
AAY: (a);V=—Q-= i ML T et
15. «=f6 = (s ¥R @0F Go A0 G @EERE 20E-
(a) 0 (b) Infinity
(c) =37 =T BIZTS I (d) 7R3 *jre= 1R @R -

Wz(b);T=2n\/§;‘jﬂ@§mﬁg=0=>T=oo

16. @5 sarara 9ft ™2 Wy =12 Ay %mﬁmammwwﬂwm—

(@) (b)m ©)5 3
e (0); Q= x5 =3 ,

17. = sfexfE @m afm Sor S [Ans: b]
(a) T (b) e (c) resg (d) =t

18. Jer LA Z0I I I+ 8 FRAER NGO (FTT TR~ . [Ans: a]
(a) 0° (b) 90° (c) 180° (d) 270°

19. r IPMER JeE G5 Bieaa W fea | Ruye &71fEs 201 J0e7 ey G1FF CFiad N 797
(a) (b) et (o)t (d) L

r2 2r ¥
S (b); B = o = L2 (N = 1)
20. S5gm fawm @ifew @ 5°C I TS SR &S RI-
(a) 5Cal (b) 25Cal
(c) 1Cal (d) 25]

g (b); W = 5 x 1 x 5 = 25Cal

U] sew-Serm __ S
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| MBSTU ADMISSION TEST 2019-2020 (Un

English (MCQ)

01. Which pair of words is synonymous? [Ans: a]
(a) Waste, trash (b) Reduce, rubbish (c) Recycle, destroy (d) Conserve, consume

02. Many___student was present in research lab. Complete the sentence with the appropriate article.
(a) an (b) the (c)a (d) or [Ans: c]

03.  Air pollution is a big problem of ___ developed countries. [Ans: b]
(a) thermal (b) industrially (c) agricultural (d) nuclear

04. The synonym of “alluring” is- [Ans: b]
(a) unexpected (b) tempting (c) disappointing (d) ordinary

05. He advised me ___ smoking. [Ans: b]
(a) giving up (b) to give up (c) in giving up (d) from giving up

06. The passive form of ‘Don’t waste time’ is- [Ans: a]
(a) Let time be not wasted. (b) Let your time not be waste.
(c) Let not your time be wasted. (d) Let your time be wasted.

07. She needs to go for a walk. She ___at her desk all day. [Ans: d]
(a) has sat (b) is sitting (c) sits (d) has been sitting

08. There are __students in class today than there were yesterday. [Ans: d]
(a) less (b) a few (c) a little (d) fewer

09. Surely you __ known what they were going to do? [Ans: c]
(a) may have (b) can have (c) must have (d) better have

10. Choose the correct sentence: [Ans: c]
(a) All of it depend on you. (b) All of it are depending on you.
(c) All of it depends on you. (d) All of it are depended on you.

1. NHj S si5fs 21 [Ans: a]
(a) ORI (b) PrfSrr (o) (d) = iR

2. @G I AFTdR @ wo? [Ans: d]
(a) —CHO (b) —=NO, (c) —COOH (d) —CH;

3. fefpdffme s R @i sidife e [Ans: a]
(a) HCHO (b) CH3CHO (c) CH3COCH; (d) CH;CH,CHO

4. (I TEers S forpeT I T2 [Ans: c]
(a) 0% fafemr (b) #ifF wifim R (¢) Rwndifareme (d) == fRfewar

5. @ effgam 230Th e 234Pa tofa = [Ans: b]

(a) a (Alpha)emission (b) B (Beta) emission (c)y (Gamma) emission (d) Neutron emission

] oS { s}
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6. Ktaq 2rEegay @Ein? : [Ans: b]
(a) A3* (b) S*- (c)F~ (d) 0%~

7. foecefmmR fAeR RUT FO2 [Ans: b]
(a)0 (b)1 (c) 2 (d)3

8. froa BIN GTeIs ZreTaGe Ry Araet e oy o [Ans: d]
(a) Ca (b) Fe (¢) Zn (d) Cr

9. EVEETERIZCE T FRGT TR FO? [Ans: c]
(a)4f (b)6 (c)8f (d) 10

10.  foeoa =G Fyear w91 SRR e
(a) PRGN ©6 (b) aifEFs (c) cfiTeIga (d) T=fes
Y (O TGF (F2); (FIAOIT TB — FCAT F°I
AT - IR G T AT
CRFEIRE — FICAT F6l 7T Cof T 2
PR — I 2 3§ WA AT

11. W TeRGs Rt F&eers Jge? . [Ans: d]
(a) d? (b) d’ (c) d3 (d) d*°

12. B e aufors Sroy=@i @Hit? [Ans: ]
(a) Al,04 (b) == AlCl; (c) oF | (d) THF

13. e gfttgs IR @2 [Ans: c]

© S] © ©

(a) CH3CH, (b) (CH3)3C (c) CH3 (d) (CH3),CH

14. fwoa @@ LG P wee Ty 2 [Ans: c]
(a) HCHO + NH3 (b) CH;COCH;3 + NH;  (c) C¢HsCHO + CH3NH; (d) CH;CHO + NH,0H

15. SICACCIFACHE T FNGCF QAN AS F41 - [Ans: c]
(a) farrifas (b) cFe (c) 2= (d) Tt

16. fSoa (WG G26™ SE Cofd a2 [Ans: b]

(a) 0,N<)-CO,H (b)) HoNK)-CO,H () Br<)-CO,H (d) H,N~<)-Br

17. foa @@t smed [Ans: a]
(a) HC = CH (b) H,C = CH, (c) HsC — CHa, (d) CH3NH,

18. CHOCH(OH)CH(OH)CHO ceif5a ¢t e a2 [Ans: d]
(a) TEEAr (b) IrrgaAr (c) AR fime (d) === e

19.  (SoBTRTEMM “aoTs (S FT = (P62 [Ans: c]
(a) c&rt (b) ST (o) e (d) 5=

20. @ @I Fnfvear [fewn e [Ans: d]
(a) HsCCHO (b) H;CCOCH, (c) (H3C)5CCHO (d) HCHO

21. @ Sf wRed [Ans: c]
(a) CHz — NH, (b) (CH3)3 —N (c) (CH3), — NH (d) C¢Hs — NH;

22. 10%(w/v)H,S0, GIR Ti@l b 2
(a) 0.98 M (b) 0.102 M (c) 9.8 M (d) 1.02 M
T (d); —e = 1.02 M

N Esm-SwE R 2
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23. @G gate @ Aftme Reafers 2@ [Ans: b]
(a) HNO, (b) HCIO, (c) H,S0, (d) HBroO,

24, 2.0 (e FRer @ 3.0 (e Aife e wnfaa Gt s ww?
(a) 1.67 (b) 0.4 (c) 5.0 (d) 0.6
T (d)s — = 0.6 |

25. o7 @it wpwa? [Ans: b]
(a) sp® —s Prra®  (b) p, — p, I (c) sp — sp BT Iw (d) sp® — sp3 v 7w

26. fAwoa @Wba IH 1 I [Ans: d]
(2) BCl, (b) BeCl, (c) NH; (d) H,S

27. AL S@gRa Gl [Ans: d]
(a) As (b) Sc (c) Zn (d) Co

28. WU6T (IR ~FaIY/ SR (@1 AN TG IJTRYT IACS A2 [Ans: c]
(a) He (b) HY (c) Be3* (d) Be2*

29. @R SRRGE LT 2 . [Ans: d]
(a) W (b) E (c) h2 (d) W2

30. uft foq goaEa o7 s o< 399 B @G [Ans: c]
(a) =BT v (b) 2% oo (c) SR AreT (d) B«

Physics (MCQ)

1. aﬁw@ﬁmmmwwgmeW?
@3 ®)3 ©F @

2T A T
ANY[H: (b)’ T X g = Z
2. &5 N beTl &2 a1 4 #FT @ 8 ms ™! @R 7s oM @ 23 ms ! T, T R T
(a) 8 ms ™2 (b) 10 ms™2 (c) 12 ms—2 (d) 5 ms—2
ATH: (d); a = %;ms'z =[Dmg= 7

3. JOFR A 72 kmh ™! TEpfers v @ 1w FHIA G 1 ms 2 20 JER #0RE JRINE TS

(2) 500 m (b) 400 m (¢) 300 m (d) 100 m
Wz(b);ac=y; .'.r=%2-=400m

4. I GIG CIT AT FE F© 202 ' [Ans: a]
(a) 0 Hz (b) 2 Hz (¢c) 1 Hz (d) =i

5. sife*f& 8 Saarea ey - [Ans: a]

. P _2p _2p?

(@) k=== (b) k=~ (©) kz= (B =

6. TR TC & Y 8 SIANAR ML TE 2Ll [Ans: c]
(a))\oc% (b)}\m% (AT (d)?\oc\/iT

7. ATFARA A (P @0 =2 [Ans: b]

(a) FF=eTCr (b) e (c) Ia=F=R (d) TogerR

IR S { ss33 }}
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8.

10.

¢

12.

13:

14.

15.

16.

17,

18.

19.

20.

21.

22

23

} ™ ¢

40 kg <= 60 kg o= 726 38 i fRedrs fare 2 10 ms~! @R 5 ms™?! @ ASAR AL GTF
AT 4@l 0 | G ST 98 9f0 @F S TS (AT FS (@07 H+ICo A2

(a) 2.8 ms™’ (b) 2.0 ms™? (c)1.0ms™?! (d) 0.5ms™?
SaT: (c); 40 X 10 — 60 X 5 =100v=>v = 1ms™!

50 kg St @b 89 A 50 kgms ™! A @ e S =2

(a) 25] (b) 50 ] (c) 100 ] (d) 500 ]

e (a)s By = & = 22-] = 25]

NI OB Ty Y AL 2R~ [Ans:
(a) 2n3 (b) n(A + 1) ©m+1)3 (@ @n+1)3
ERGE @ AfbTe == T- [Ans:
(a) B (b) fReG (c) ~fEG= (d) af% c25w

aife (ofF 70 @2 [Ans:
(a) OR (b) AND (c) NAND (d) NOT

TR RS "W T PR A G FO? ~ [Ans:
(a)a = —w’x (b) a = wx? (c)a = w?x (d)a = —wx?

o 9S> YT TGS VG Fomee T T OIRCET 7 0 I?

@3 (6)9 ©3 @3

S (a); F o rlz

3T ofe TeITe WfFE ofe eanes e foefa ar A i 5@ =i [Ans:
(a) FRTES 5@ (b) fHEG 5@ (c) UTHSTACETE I« (d) EwTes =

(ST Y - [Ans:
(@) N = Nyert (b) N = Nye M (c) N = N,e ™t (d) N = NyeT

B W AT (@2 [Ans:
(a) [M?LT™?] (b) [ML*T?] (c) [ML?T~?] (d) [ML™2T?]

@I T ACACE G @ e T8 pereife PTE 0.5 m | BT 9 0.5 kg T GF T ANE FO?

(a) 0.050 kgm? (b) 0.125 kgm? (c) 0.025 kgm? (d) @=BE 7@

srge: (b); | = Mk? = 0.5 X 0.52 = 0.125 kgm?

@ ® @7 pfs s c&fFe [Ans:
(a) T (b) @& (c) = (d) ==

@G ofte pFIT oI T2 [Ans:
(a) PO ST (b) x — ray . (¢)y—ray (d) a —ray

X — ray 9« &= (G Aow?

(@) Amin = (5) Amin = ©V =1 (@) Amyin =

: (a); E = eV = A‘: 5 Mg =

Y13 =007 Toita WS (e 3 e 2 o 20s fefe - [Ans:
(a) TG (b) cF1BT (c) x — ray (d) a-zelr

PR (19 A x @ EIfifes oy [ @ - [Ans:
(a)3 = 0.85 (b) - = 0.85 ©)x =1 (d) x = 0.85 I2

S-S QI

d]

b]

b]

d]
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24.
25,

26.

27.

28.

29.

30.

oy 8 AN

G FIH B 93 13- [Ans: a]

(a) Tesla (b) Wbm? (c) NAm (d) NAm™?!

FICE T FACHTH (@ T T I '8 FAOF TGS, (Fol- [Ans: d]

(a) 280° (b) 90° (c) 45° (d) 0°

AT AT AT THSI- [Ans: c]
v3 2v3 v3 sin? @ Vosin®

(a)HZE (b)H=—g— (C)H=T (d)H=T

«f5 S SaeHR AT y = 10 sin (200mt — 1.57x) | STABT FHE T2 [Ans: a]

(a) 100 Hz (b) 200 Hz (c) 50 Hz (d) 150 Hz

m 3 T ¥ T A = 21 + 2] — 2k @& B = mi + 2] + 4k swviw ow 2

(a)1 (b)2 (©)3 (d)4

TE: (b);2Zm+4—-8=0..m =2

@ F T FTbras oI 9w o s [Ans: d]

(a) tref (b) wfe (c) (d) g

=il e FeToTm sy @ ~ Mr? 21 semifes mid we? (M Fiffers o @ r gm76)

() sM (b) > Mr (O (d) 7 [Ans: c]

Mathematics (MCQ)

«f6 0T TP 4 cm GR JEBTH @Y 56° @1 oty FA0T @I G WA cm
(a) 3.91 (b) 3.81 (c) 3.99 (d) 3.71

W:(a);s=r6=4xi—zg=3.91cm

f(x) = V1 — x2 TR (CIN 23-

(a—1=2x=>20 b)=1sx<1 )0<x<1 (@) & £x<0
TgE: (b1 —x?>0.x2<1 ~—-1<x<1

1,2, 3, 4 tadr 8 siwemcat wisn MG fager 19w 41 Tt [Ans: a]
(a) 1 (b)2 ' (c)3 (d) 4

tan (—945°) @3 IW- [Ans: b]
(a) 1 (b) -1 ©0 (d) V3

f;% &7 - |

(@) (b) 2m ©3 ()0

T (0); [, 7y = [sin~ (x = DI} =sin"20 — sin"'(=1) = T

sinx = 122 9R cosy = %?&ﬁ % GERCR [Ans: d]
(a) 0 (b) 1 (c) -1 (d) T & AR A
X+y=6, 2x+y=8, x>0,y > 09— Z = 3x + 2y 93 F_E T F©?

(a) 8 (b) 12 (c) 14 @) 15

TEE: (€); x+y =6¢2x+y=8R@@Y (2,4) - Zpi, = 14




ECTTTER ) ™

8. x3+2x2—3x+4=OWWﬁa,B,ym,§+%+$aam-

(@) -3 (b) (©) 0 ROE
. L ap+By+ya -3 3
PR s == =
9. A=4i-3]+2ka®=B = 21— 3j + 4k =37 2 @ TRfCT AAES AR, O CFAF-
(a)V3 (b) 6v3 (c) V6 (d) 6V6

sr: (d); A X B = —61 — 12] — 6k - [Ax B| = 6V6
10. y-orF @k (4, 5) 7™ e (K, 1) e vag 5 = K 99 1 o7
(a) 1 (b) 4 ()7 (d) 11
s (b)s K = /(K—4)24+ 42 ~K=4
11, 22 o e e ore 78 ok (3, 1) Reptrll s St G
(a)2x—13y+7=0 (b)2x+13y—=7=0 (c)13x—2y+7=0 (d)13x+2y+7=0

W:(b);y+—f§x=1—%=> 13y +2x=7

_ ax f(x+3) _

12, a f(x) = 3 oW ;=5 =7

(a) £(0) (b) (2) (c) f(3) (d) f(4)

s (d); Sy = 3437 = 34 = f(4)
13, «@@f5 8 5 m/s (07! T G GTT =1t 561 100 m g SO T o7 (1 25 m /s AT, Mo gzl

m_

(a) 1.5 m/s? (b) 2 m/s? (c) 3 m/s? (d) 4 m/s?

TAEE: ()3 i A

2x100

14. P,Q,R Mliwefm W= 4 X 5,5 X 4 «® 2 X 4 7 (PT + QR” wiflirsw o &7 =3z :

(a) 5 X 4 (b) 5 X 2 (c) 4 x 2 ()4 x5 [Ans: b]
15. 4 a2 @R 2 4% WA 25 (o9 P @@ Q *RR 120° e fwarer =, P. Q =?

(a)8 (b) -8 | (c)4 (d) -4

s (d); P. Q = PQcos120° = 4 X 2 X (— %) = =i
16. &fbet WA —3i G (AT FA A- [Ans: d]

F . 1_. 3 =,

(a) 3e?™ (b) 3e3™ - (c) 3ez™ (d) 3e2™

17. x=3tand, y = 2 secO SRITET ICSAY AT Fee! -
2_y2=1 LX) v _x¥ _4 e 1Xf(0) §
(@)x" =y = ®)-5= = sk De—52=

=2 2
T (b); - — — = sec?® —tan?0 =1
4 9

18. <% e 45° et friet P e /2N 0 #1f V10N =01, P« w1 203
(2) 2N (b) 3 N ©) 5N d) 7N

s G P m_ z _
STE: (a); P2 + 2 + 2v2Pcos; = (V10) = P =2N




19, x @3 A% M & 3x — X2 + 4 @7 AfFW T 3-

@7 ()3 @)= @-2

~ _ _E - E _E
ST: (a); £(x) = 0 When x = = ..f(z)_ -

20. aﬁsﬂ@mﬁrm@mm(3t+%tz)ﬁmmw,Sﬁﬁtﬁwmm-
(a) 60 m/s (b) 72 m/s (c) 78 m/s (d) 80 m/s
FAYE: (¢); v =3 + %t = (3 - 5);60) ms~! = 78ms™?!

21, y* = 16X R y = 4x R WG (G CFATH (3-

(@)3 (b) (©)3 (d)2
T (b); 16x° = 16x ~x=0,1 +A= [[(4V/x—4x)dx =2

22, (4,-7) RRepmst @3 x-S0wa B9 719 SREERIE R 24- [Ans: d]
(@y=7 (b)x=-4 Dy =7 (dx=4

23. (2,1) fre o [FE @36 38 y-orF @RI =pf 3501 | qrwta x-9F @A S SR e =09-
(@)2++3 (b) 2V3 (c) 3V2 (d) 2v2

F: (b); 24/g2 — ¢ = 24/g2 — 2 = 24/3

24. @ sind + cos® = V2, 0 < 0 <~ =W O «F T TR-

T T T T

(a) 5 (b3 ©) 7 (d) -
FTHE: (¢); Option check

25. (K=Dx+ (K+ 1Dy = -7 9 7x + 9y = 0 5% Fed 23 3 K 99 N+ =3-
(a) =7 (b) +7 (c)8 (d)9
T ()i r =2 = 9K -9 =7K+7 ~K=8

26. I@RAy = X + X ¢R x = 0 s =pfras e =3-
(@y=2x+1 b)y=x ©y=2x—-1 (dy = 2x
W (a);y' =1+e*; x=0Ty' =2; y—1=2(x-0); y=2x+1

27. fo5f6 9 (5, —2), (%, 1) @& (—1, 4) == =3, W x 99 T -
(@0 (b) 1 ' (©)2 (@3

W:(c);§=_5;_14=>x—5=——3 aX=2
28. wnﬁ“qA:[)‘Z4 g]aaﬁﬂ%mmwm,zﬁxaamm-
(@0 (b) 4 . (c) —4 (d) 12

STER: (b); 3A+ 12 —24 =0 = A =4
29. B=4i—4j+ 7k cqma oz A = | — 2] + k w2 e ==
@ 4i—-4+7K)  (b)= (4i—4]+7K) © 5 @ -4+78) (T @4i-4+7k

—_

STAL: (¢); (§>§ =2 (4i-4j+7Kk)
30. @ f(x) = x* — 2|x| ¥R g(x) = x? — 5 =, O (fog)(2) @7 V¥ =3-
(a) £2 (b)0 (©1 (d) -1

FngE: (d); fog(2) = f{g(2)} = f(22 - 5) =f(-1) = -1




